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$tudents should attempt at least one question frr:m ea*h course outcome to enhan*e their overali

outccme attainability.

PartA

V*ry Short Answer Quest!*ns

Answer all questinrrs

ilach qu*sticn carries 2 marks

'1. What rioes it mean when we say Python !* an lnterpreted language? rKl/ IColl

lKl/ tco2l

{ul/ Icosl

lul1lc03l

lKl/ Icasl

{?x5 = t 0l

2- Define C*ntinue Stat*rnent.

3. fxpiain the purpose of the close{} method in file hxndling

4. Write ** oxai"nple *f tupl* unpacking.

5. *efin* bui{t-in functions l-ist 2 exarnples

Part B

Sh*rt Answer Questions

Answer any 5 questrons

fach questlcn carries S marks

S" l-low do you create a string in Python?

7" How ean we read t"nultipi* inputs fiam a us*r in Fythcn?

IUll icalI

lKll l*r1l



8^ Explain th* concept of while loop statcrnont"

9^ Write Fython script t* test whether a given year is leap year or nct

10. Explain the importance of closing a file after performing file operatlons'

11. Write Python script to create a Dictionary and find the number cf

elemer':ts in it.

12. Explain insenti) and rernove() rnethods af iistwith suitable exan'rples of

each.

Fart fi

EssaY Questi*ns

" A*sw*r *nY f que*tions

Ha*h questi*n carri*s t$ marks

13. Discuss the operators used in Fythnn. Expiain with example

14. f;xplein th* concept of list* in Python. Discllss diff*rent weys tn *i*at* *

list with examples" f;xplain at least five basic list *p*rati*r:s snd

deserib* the list{} function with relevant *xarnples'

lul/ lcczl

lul/ ICo2l

lul/ lco3l

lAl/ ico3l

il l1 J rrn21Lul / lvvsi

[Sx$ = 25]

IUl1lcCI1l

lulJ ieffi3l

[{Sxt = 15]
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